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Phonics 
 

Nursery  

 Reception  

 Year 1  

 Year 2  

Phonics and decoding                (Early Learning Goals) 

Develop their phonological 
awareness, so that they can: 

 spot and suggest rhymes 

 count or clap syllables in words 

  recognise words with the same 
initial sound, such as money and 
mother  

 
 

Read individual letters by saying the 
sounds for them 
 
Blend sounds into words, so that they 
can read short words made up of 
letter-sound correspondences 
 
Read some letter groups that each 
represent one sound and say sounds 
for them 
 
Read simple phrases and sentences 
made up of words with known letter-
sound correspondences and, where 
necessary, a few exception words 
 
Say a sound for each letter in the 
alphabet and at least 10 digraphs 
 
Read words consistent with their 
phonic knowledge by sound-
blending 
 

Apply phonic knowledge and 
skills as the route to decode 
words 
 
Blend sounds in unfamiliar 
words using the GPCs that they 
have been taught 
 
Respond speedily, giving the 
correct sound to graphemes for 
all of the 40+ phonemes 
 
Read words containing taught 
GPCs 
 
Read words containing -s, -es, -
ing, -ed and -est endings 
 
Read words with contractions, e.g. 
I’m, I’ll and we’ll 
 

Continue to apply phonic knowledge and skills 

as the route to decode words until automatic 

decoding has become embedded and reading 

is fluent 

 

Read accurately by blending the sounds in 

words that contain the graphemes taught so 

far, especially recognising alternative sounds 

for graphemes 

 

Accurately read most words of two or more 

syllables 

 

Read most words containing common suffixes* 
 

http://www.google.co.uk/imgres?q=warren+wood+primary+school&hl=en&safe=active&sa=X&tbo=d&biw=1240&bih=732&complete=0&tbm=isch&tbnid=URfmqQI1x0RzzM:&imgrefurl=http://vle.warrenwood.stockport.sch.uk/&docid=UPzBV8ESduUnXM&imgurl=http://vle.warrenwood.stockport.sch.uk/file.php/1/logo.JPG&w=468&h=621&ei=yWT2UPGVOaHL0QXQ5YG4DQ&zoom=1&iact=rc&dur=3&sig=114163171826653000067&page=1&tbnh=150&tbnw=113&start=0&ndsp=18&ved=1t:429,r:6,s:0,i:99&tx=51&ty=98
http://www.google.co.uk/imgres?q=warren+wood+primary+school&hl=en&safe=active&sa=X&tbo=d&biw=1240&bih=732&complete=0&tbm=isch&tbnid=URfmqQI1x0RzzM:&imgrefurl=http://vle.warrenwood.stockport.sch.uk/&docid=UPzBV8ESduUnXM&imgurl=http://vle.warrenwood.stockport.sch.uk/file.php/1/logo.JPG&w=468&h=621&ei=yWT2UPGVOaHL0QXQ5YG4DQ&zoom=1&iact=rc&dur=3&sig=114163171826653000067&page=1&tbnh=150&tbnw=113&start=0&ndsp=18&ved=1t:429,r:6,s:0,i:99&tx=51&ty=98


The Warren Wood  

Progression of Skills Model 

 

Read aloud simple sentences and 
books that are consistent with their 
phonic knowledge, including some 
common exception words 

 

Common Exception Words 

 Read a few common exception words 
matched to the school’s phonic 
programme 

Read some common irregular words 

 

Read Y1 common exception 
words, noting unusual 
correspondences between 
spelling and sound and where 
these occur in words 

 

Read most Y1 and Y2 common exception words*, 
noting unusual correspondences between 
spelling and sound and where these occur in the 
word 
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